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1 LS5 X 3¥ = 21 577 707
2 SY¥ x 44 = 22 708 §48
3 S0 x 7/ = 23 LS5 770
4 73 X &0 = 24 /0 526
5 346 X 465 = 25 /36 /63
6 S$&67 x 87 = 26 723 687
7 L¥0 X /9 = 27 §é/ 30%
8 7/2 X 28 = 28 308 27/
9 308 x 73 = 29 452 730
10 LEY X 40 = 30 S40 Z/2
11 472 X &8 = 31 §,77% 506
12 586 X S50 = 32 3,408 758
13 727 X 38 = 33 7,/ 52 680
14 /30 X 43 = 34 /740 473
15 608 x 72 = 35 5,029 73/
16 7,87/ x 70 = 36 2,877 5,/07
17 #,253 X 27 = 37 4,385 /862
18 /,067 X /7 = 38 7,203 §,37%
19 £, 7/0 X &% = 39 6,03/ 6,2/7
20 &,20/ X 78 = 40 8,472 2,470
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1 5,760 72 = 21 428,770 786
2 5,977 77 = 22 470,640 472
3 768 48 = 23 457,044 748
4 3,332 J¥ = 24 §3,560 670
5 /700 S0 = 25 /48,373 S03
6 77,830 §é = 26 /00,/00 325
7 37,820 ¢/ = 27 72,220 /397
8 7,475 25 = 28 VSRR §0/
9 eV /3 = 29 /77,746 L3Y
10 25,830 70 = 30 £9 3,000 40
11 44,7358 78 = 31 /537,787 2/97
12 /4,880 L4 = 32 2,573,282 502
13 /71,7797 S7 = 33 3/ 6,470 /37
14 33,360 70 = 34 3,/26,780 §70
15 2,336 /6 = 35 LHST, /84 728
16 320,760 &/ = 36 7,/ /8,747 7,30/
17 523,/58 67 = 37 75,727,766 §,643
18 570,643 73 = 38 /2,/ 80,420 /.7 &4
19 §/,570 30 = 39 §7,378,/00 7,450
20 38/,62% 78 = 40 /7,867,736 3,874
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1 2 3 4 5 6 7 8 9 10 1 12 13 14 15
/29 &/ 9 208 40 243 283 442 §/0 963 07 &4 259 9/3 07 295
597 950 593 Y452 945 70/ 9/7 972 507 740 4639 /0% 4654 958 980
$/0 203 744 906 790 / 64 203 269 | /98| —/29 503 4683 /70 4/ 3 §5Y
906 382 &4 579 409 6/0 | —735| —708 270 378 /45 &6/ 30/ | —294 306
4675 /65 4680 327 628 §92 | —Ss70 | 49/ | —&46| —592 350 %/0 §92 | =370 | 44/
11 1 ] — 1 — _— _—1 _—1 97/ 375 %434 $4es | —/7.2
16 17 18 19 20 21 22 23 24 25 26 27 28 29
4/3 634 950 625 §25 504 4.2 $7/ §20 924 4,/97 9,675 | 9.430 | &,405
792 Y84 /08 3564 948 §39 769 /40 —/97 /02 /,603 | 5260 | 7,605 | 3,49/
0% /48 $&3 —/08 —5/2 790 /38 738 963 —293 | 2,38/ 7,/08 | 3./67 | —/.537
/89 725 6/2 2/7 —~237 268 58/ 952 356 §S7 | 3,426 Y4,082 | 5,846 5,380
247 359 375 —769 /03 /&6 2/0 306 672 340 $,07.2 &7/9 | £093 4,056
936 290 297 942 —740 352 §57 524 —708 —S54/ 9.8/0 6,537 | 6,529 | —9,/.28
320 03 7.29 —580 359 947 904 §45 —5/4 48| 1 — | _—]
30 31 32 33 34 35 36 37 38 39 40
/537 3,708 3.4/7 2,708 9,807 4,2/ 760 49,325 5,762 §0,9/5 5,460
5,/06 £,07/ 7,065 4,03/ —~3,079 7,890 47,208 7,60/ 7,/ 94 —/.738 —&4/
7,472 7,462 4,932 5,340 2,490 4,953 Y/ 3 2,/ 74 928 —T72,45/ 2,678
4,093 4,520 /, 528 6,9/7 /264 £,367 2,357 7564 43,580 806 —/,059
—3,274 6,394 &,/70 9,/73 §.73/ —3,40/ 5,032 6,839 209 —470 386
9,840 5,/37 5,386 §,694 5,946 /784 Y,58/ /3,082 9,037 6,283 $40,5/7
2,649 6,809 7,258 7,625 ~5,078 78,/96 940 32,67/ 5,364 36,295
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